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10.

forer ¥ & q0g a9 &

(A) TewTier® (B) fawr=
(C) ST (D) srefors
TOUTY 57 H FA AT | g7

(A) &+ (B) T

(C) =zt (D) fat

ferardur sreg § THTE FATIC-

(A) srerfram (B) Tz
(C) 5= (D) =getfe
A & 9 a9 a1 §-

(A) FrrT (B) =rar
(C) T7 1z (D) qrer
Iga’ ae8 w1 A+ §-

(A) STw (B) fasta
(C) Fraer (D) faFe
oo &1 wHTaaT=t T8 8-

(A) =g (B) w1
(C) =f= (D) sifer
qui’ T AHTAF AT TGl B-

(A) 7912 (B) s
(C) @ (D)-=1E1T

TE F gHEtT g e fAwmT v ® ®iw
A% g-

(A) st=gs
(C) sl

(B) Sferg
(D) st

AT AT h M TH TR -
(A) 5 ST T ST "5

(B) ST 78 7 31

(C) forr @r 7 &1 7

(D) & |AT 7 &7 76

g T = gl # R e i g w- 35
TEE  TE PSR waaren #

..................... #T TETaT St gl
(A) &L (B) T
(C) ArsTor (D) &= o

12.

13.

14.

15.

16.

17.

18.

19.

LUFCEIRS #r ISkl FA #ir
| FOUUUN FEATAT §-

(A) srf¥remoT (B) FstT

(C) 7ot (D) a2

G & T T AT qETEL T 1 5-

(A) 3T g (B) swsfra g
(C) =T ste=T gAT (D) =rsTa TgAT
Aafafea smanfT s 1 @ & Tarzu
"3 - ST

(A) srse=

(B) fasff

(C) srsttas

(D) £

‘M FT dE g, ges med oo
Hfveq §@ =f& ag o s afea § S ar =

&

(A) err= (B) g==r

(C) st (D) arE=T
SA -G § TohaeT S Tl &7
(A)sT=a (B) srgwma
(€)= w1 (D) fasma

we-fiq Ag afza w, g AfF o9 gomad @
HARIE TATZC-

(A) =TT (B) T
(C) 3T (D) =
QT orex §-

(A) smefrats (B) s
(C) s (D) & =¥
e & & ST a2 #-

(A) ST (B) 7712
(C) Su= (D) et
e § & #1991 952 9gF=A g7

(A) =TT (B) St
(C) 2rer (D) =TRfY
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20.

21.

22.

26.

27.

28.

ATERAT F T A g TEAT g1 a9 § HA
T HTH §°

(A) FLIT FTCH

(B) UTETT FTH

(C) TEIETT FTTH

(D) STTEr=Feor FTeF

FE AR ATH IS AT § 1A IdATRQ
(A) TFATST FAHTA

(B) sma=r 9

(C) TFaTe Ao

(D) ERTHT whaeaq

A FT TG’ TR TATST-

(A) T (B) &

(C) @™ (D) =t

PART- Il / 91Tl

23.

24.

25.

AYLE AT B-

(A) & FEAT AR TAAT 2

(B) =TATH FEAT AR, AT g0 TeT 2|
(C) T3t #T {ve AT-A I+t AT =18 § I7
TET &

(D) 3| ATHT % A=A g% Bl

FTR F AgE W (Ffeget s F w3 fifve-
# AL AT/ 3 90T /A 919/ FaA 50 FTA
qTT A FE qfE TN

(A) & S TIT

(B) a1 39 997

(C) &% ate Fasr 50 7 A1 &

(D) #1< Afe 7L

‘QrATSETE |/ s Tt Tty gP

(A) = (B) =5
(C) forest (D) 8¢

MATHEMATICS / TTfora

If the mean and coefficient of variation
of a data are 25 and 80 respectiyely,
then what is-thé wvalue of standard
deviation?

(A)A7.5

(B) 20

(€21

(D) None of these

When 50 is subtracted from 50% of a
number, the result is 80, then find the
number.
(A) 180
(C) 260

(B) 240
(D) 280

If x is an integer, then (x3 — x) is always
divisible by:

(A) 4 (B) 5

(C) 6 (D) 8

26.

27.

28.

7Y AHEL HTH T F ATeT MY FB¥==or o
Fa: 25 3 80 g, d AFS F GHg F ANH
TR T AT AT FRIP

A) 17.5

(B) 20

(C) 21

(D) =% & FTE A&

ste 50 #r foeT "= F 50% A § g v g,
ar TR 80 YT BraT §, a1 98 H9edT A1 &<l
(A) 180 (B) 240

(C) 260 (D) 280

T x TH IE 7, ar (x3 — x) gAAT e

s geme
(A) 4 (B) 5
(€) 6 (D) 8
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29.

30.

31.

32.

33.

A boat takes 3.5 hours for travelling
downstream from point A to point B
and coming back to a point C which is
at midway between A and B. If the
velocity of the stream is 6 kmph and
the speed of the boat in still water is
30 kmph, then what is the distance
between A and B?

(A) 72 km

(B) 108 km

(C) 120 km

(D) 144 km

A man is walking at a speed of 24
km/h. After every km, he takes a rest
for 4 minutes. How much time will he
take to cover a distance of 6 km?

(A) 15 minutes

(B) 35 minutes

(C) 39 minutes

(D) 45 minutes

A shopkeeper allows 10% discount on
his marked price. If the cost price of
an article is Rs. 200 and he'has to
make a profit of 38%, then'find the
marked price.
(A) Rs. 320

(C) Rs 4300

B)Rs. 250
(D) R, 280

50 litres of a mixture contains 40%
alcohol ‘and the rest water. If 30 litres
of water is mixed in it, then what will
be the percentage of alcohol in the new

mixture?
(A) 25% (B) 24%
(C) 20% (D) 16%%

The centroid of a AABC is G and the
area of AABC is 300 cm?2. Then find the
area of ABCG.
(A) 150 cm?
(C) 50 cm?

(B) 120 cm?
(D) 100 cm?

29.

30.

31.

32.

33.

TF 19 o7 F ar-97 fag A & f8g B & St
& T g &g C aF qg=dt §, i g A T
IBF i d Rua g @ fw ag 3.5 we &
T wdt gl afR gy it Iy 6 fRaAnfier v
HaT & qUT oid S | A i afa 30 Frarfiex
TR eer g, AR AT g Bas fr gh =T 8P
(A) 72 km

(B) 108 km

(C) 120 km

(D) 144 km

uF ARe 24 i Eer fi e & 99 @ R
7% T ¥ 9T 798, 4 Wae & e s w1
g 6 S @ T+ § S/, T aww
TR

(A) 15 minutes

(B) 35 minutes

(C) 39 minutes

(D) 45 minutes

T gHMI A o 7 10% Fe T Fam
gl aR\TTH avg F T #4979 200 T, § qAT 98
35% T AT ITH FAT 8, AV sifhd 7 J1q H<
(AYRs. 320 (B) Rs. 250
(C) Rs. 300 (D) Rs. 280

50 #fex Ao § 40% sewrew i st O
grar 81 ik z@d 30 wfex g fRemar smar g,
ar 7T o ¥ syewgs @ AT FT P

(A) 25% (B) 24%

(C) 20% (D) 16%%

TF B ABC #7 %% G ¥ 3k 5w ABC
# 8w 300 = 4 &, @ By BCG &
A6 1T T
(A) 150 a7 Ty
(C) 50 =7 &t

(B) 120 a1 qHT
(D) 100 a7 Ty
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34.

35.

36.

37.

38.

39.

For the given distribution, find the

Mean.

Xi Fi

1 4

2 3

3 7

4 6

(A) 2.45 (B) 2.65

(C) 2.55 (D) 2.75

If the diagonals of a rhombus are 24
cm and 32 cm, then find the perimeter
of that rhombus.
(A) 40 cm

(C) 160 cm

(B) 60 cm
(D) 80 cm

If mode of the following data is 8, then
find the value of k in the 3, 4, 6, 7, 6,
7,10,K+2,6,8,9,7,8,9, 8, 4,5.
(A) 8 (B) 5

(C) 6 (D) 4

A, B and C together earn Rs. 339 per
day while A and C together earn Rs:
229 and B and C tegether earnRs.
214. What'is the daily earning of C?
(A) Rs. 99 (B) Rs. 125

(C) Rsf 104 (DYRsal110

Two. triangles ABC..and PQR are
congruent. If the area of AABC is 123
sq. cm, then'what-will be the area of
APQR?

(A) 115 sq.cm (B) 118 sq.cm
(C) 246 sq.cm (D) 123 sq.cm
1 .
If x= = 47, then what will be the
-3
value of x* —2x* —7x+57?
(A) O (B) 2
(€3 (D) 4

34.

35.

36.

37.

38.

39.

fu g AT ¥ forw, wrer {1 w1

X; F;
1 4
2 3
3 7
4 6
(A) 2.45 (B) 2.65
(C) 2.55 (D) 2.75

I & quIe & At & Fars 24 &t
T 32 T §, AT SH FHAGHS T IRHAT

BRI
(A) 40 cm (B) 60 cm
(C) 160 cm (D)'80 cm

afs [Ae 31 &1 Sga8,8.8, 1 3, 4,6, 7, 6,
7,10,K+2,6,8,9,7,8,9,8,4,58k
HUHA FTT R
(A)'8
(C) 6

(B)'5
(D) 4

A, B 3T C f@st wfafew 339 &. #AMQ §
Safh A iR C et 229 = iR B &R C
AeFT 214 TFAMW 51 C A AT FATE T

&?
(A) Rs. 99 (B) Rs. 125
(C) Rs. 104 (D) Rs. 110

I BT ABC &k PQR wabmw gl af
Bt ABC &7 &5rher 123 a9 Y &, av

NSt PQR &7 &%t 94T TP

(A) 115 sq.cm (B) 118 sq.cm

(C) 246 sq.cm (D) 123 sq.cm
afe x:z_l\/§ = 47 §, A X* -2 —7x+5
T AT F4T TP

(A) 0 (B) 2

€3 (D) 4
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40.

41.

42.

43.

44,

45.

Which of the following fraction is the

largest?
(A) 8/9 (B) 3/5
(C)2/3 (D) 5/6

A cycle wheel makes 2000 revolutions
in moving 440 m. What is the diameter
of the wheel?
(A) 7 cm

(C) 28 cm

(B) 14 cm
(D) 21 cm

A and B started a business, with A as
active partner. A invests Rs. 10000
and Rs. 5000 more after 8 months. B
invests Rs. 15000 and withdraws Rs.
3000 after 9 months. Being the active
partner, A takes Rs. 500 per month as
allowance, from the profit. What is the
share of B if the profit for the year is
Rs. 293257

(A) Rs.12825

(B) Rs. 12660

(C) Rs. 8000

(D) Rs. 11650

A shopkeeper deals in milk and#45 L
mixture is to be distributed infMilk &
Water in the ratio of 4 : 1. If{14,L milk
& 11 L water will be added in the
mixture, then{ what will be, the new
ratio of water and milk?

(A) 2 /7 (B)8: 10
€)2:5 (D) 3 *%

Find the'median of the set {16, 23, 32,

54, 69, 87}
(A) 44 (B) 43
(C) 45 (D) 54

A candidate who gets 30% marks fails
by 30 marks but another candidate
who gets 55% marks gets 19% more
than the passing marks, then find the
maximum marks.
(A) 500

(C) 400

(B) 600
(D) 550

40.

41.

42.

43.

44,

45.

At § ¥ w9 | 5 999 987 8?
(A) 8/9 (B) 3/5
(C)2/3 (D) 5/6

T GTEhel &1 I3aT 2000 FFHT AMMHT 440
HieT f T FT T FLar gl {8 F1 AT T

&
(A) 7 cm (B) 14 cm
(C) 28 cm (D) 21 cm

AR B 9 TF Fq@F F H1 q9T A 9
afdg wrflee & & & &@ fFm A 9
10000 ¥. &7 [ 6T a1 8 |giv & 1%,
5000 %. i< arfadh MRasf&amn B & 15000
%, & Aaer T a9 9 Ag & a1g, 3000
%, e ffrm afvr wrfieR g # [, A
T F, €9 §| 500 T, 7T @ A & Aar
gl AR arfds @t 29325 I[Ny, A B T
& FT 87

(A) Rs., 12825

(B) Rs. 12660

(C) Rs. 8000
(D) Rs 411650

TF TR Y FT AR FAT § AL 45
A ATTH @ AR T 4 : 1 F Fqura &
grar gl afe o § 14 e gy &k 11
e qrit AT S, 9r 9 S | oA

AT SFATIATT FIT GHIT?
A)2:7 B)3:10
(C)2:5 (D)3:7

e {16, 23, 32, 54, 69, 87} Hr ATEAHT
T FL
(A) 44
(C) 45

(B) 43
(D) 54

TF ITHEER ST 30% i YT T §, 98
30 3F ¥ AGHA g ATGT §, AT TH 97
SHfiEaR, ST 55% 3% 9T HLar g, a9r
ST st & 19% sfare i w9 +<ar &, av
FTARAT 3 ATT H
(A) 500

(C) 400

(B) 600
(D) 550
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46.

47.

48.

49.

50.

The length of a rectangular room is 5
m and width is 2.5 m. Find the cost of
paving the floor by slabs at the rate of
Rs. 60 per sq meter.
(A) Rs. 750
(C) Rs. 600

(B) Rs. 720
(D) Rs. 800

The difference between compound
interest and simple interest for 2 years
at rate of 10% per annum is Rs. 1000,
then find the sum.
(A) Rs. 60000

(C) Rs. 100000

(B) Rs.120000
(D) Rs. 80000

The traffic lights at three different road
crossings change after every 36 sec, 80
sec and 144 sec respectively. If they all
change simultaneously at 9:30:00
hours, then find the time at which
they will change simultaneously again.
(A) 9:42:00 hrs
(B) 9:36:00 hrs
(C) 9:48:00 hrs
(D) 9:50:00 hrs

If 3%+ +11=740, then find thefvalue of

X.
(A) O (B)-1
(€) 2 (D) 3

The amount of concrete required to
build | a ‘concrete cylindrical ) pillar
whose ‘base has a perimeter equal to
44 m andwcurved surface area is 132
square metre.(Take-m=22/7)

(A) 462 m? (B) 454 m?

(C) 264 m? (D) 286 m?

46.

47.

48.

49.

50.

T STAATHIT FAY ¥ Fa18 5 M2 X e
2.5 #HieT 81 60 = A ot Hie< @i aT ¥ we

T FT Fra 719 fifsm
(A) Rs. 750 (B) Rs. 720
(C) Rs. 600 (D) Rs. 800

gz el AfSa g=afer 9 2 a9t &1 10%
AT SATST it I IX THG 5 SATST T ATETT
ST &1 F=a< 1000 & g, ¥ 9 Gy A1
2

(A) Rs. 60000
(C) Rs. 100000

(B)/Rs.120000
(D) Rs. 80000

AT FET-SIT TS HIET G, ¢Fheh ATSd
FH: 36 Hhe, 80 e X 1448 & a1
Jeading| afe S@fin9:30:00 s F T ™
geadl g, af 3 R & e ay g awy
FEAI

(A) 9:42:00 hrs

(B) 9:36:00 hrs

(C) 9:48:00 hts

(D)F9:50:00 hts

7t 3049411=740 &, ¥ x F7 9 AT F
(A)0 (B)1
(C) 2 (D) 3

TF Fwhic JOTHIR W & A & [
AT dwhie 6 AT AT HL, NEH e
FT IRATT 44 HieX T 9% 91T 8957 132
[ HeT & IET gl (= 22/7 )

(A) 462 m? (B) 454 m?

(C) 264 m? (D) 286 m3
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PART- Il / 9T

51.

52.

53.

54.

55.

56.

57.

58.

59.

GENERAL AWARENESS / |THIR GIFHR

Who invented the Hydrogen bomb?
(A) J. Robert Oppenheimer

(B) Edward Taylor

(C) Samuel Cohen

(D) None of these

Where is the second 108 feet statue of
Hanuman ji located wunder the
Hanuman ji char Dham project?

(A) Gujarat (B) UP

(C) MP (D) Himachal Pradesh

In which month does the Earth
Perihelion state occur?

(A) January (B) March

(C) April (D) None of these

Which state does not have a bicameral
legislature?

(A) Madhya Pradesh
(C) Karnataka

(B) Bihar
(D) Maharashtra

What is the name of the currency of

Bangladesh?
(A) Rupee (B) Dollar
(C) Taka (D) Dinar

Full-form of NAT:

(A) Network Address Translator
(B) Network Acgéss Translator

(C) Network Aequired Translator
(D) Netwonk Arithmeétic Translator

Which of the following gas imyair is
responsible for discoloration of Brass?
(A) Hydrogen Sulphide

(B) Carbon. Diexide

(C) Nitrogen

(D) Carbon Monoxide

The color of the sky appears blue-
(A) Due to scattering

(B) Due to diffraction

(C) Due to reflection

(D) Due to refraction

At what temperature the density of
water is highest?
(A)O° C

(C) 50° C

(B) 4° C
(D) -27° C

S1.

52.

53.

54.

55.

56.

57.

58.

59.

TES IS a0 7 Afahi< fhae fam are
(A) ST, TFE AR AT

(B) T=eE To¥

(C) FHu e

(D) =% & g TE

TR ST 9 a8 IRIASET F agd gqae
sft Y gmdr 108 fie Fi wigar w2 fua g2
(A) ST (B) 87T Taar

(C) HeT =T (D) fRaT=e Jaar
et it ITER Rl e Agi A gl g ?
(&) st (B) 914
CEES) (D) =98 &S TEY
For Tsa ® TgEeATHS e 951 27
(A)meT 3o (B) fe®

(C) e (D) 7Ty
ST ol HST HT FIT AT & P

(A) TFaT (B) =X

(C)y =T (D) X
TTEN(NAT) &7 707 &7

(ANTETH TSH ZiHeex

(B) Sz TFH TEeIeT

(C) Feas UFIE e

(D) Wedsh AFHTCH T

F1g # Fufafea § & -6 &9 faw w1 @1
HIhT A 6 o It 8P

(A) BTESISIT AoHhI=E

(B) &1 STEAATES

(C) ATZESIA

(D) FTET HATATFEATSE

AT 7 1 e Rars T g-

(A) TERTOT & FHTC0T (B) faaa+ & 10T
(C) TTad % HTLIT (D ERECRERIE
TS &7 99 (e TTIHT I GATTE grar g2
(A) 0° C (B) 4° C

(C) 50° C (D) -27° C
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60.

61.

62.

63.

64.

65.

66.

67.

68.

Which element is abundant in the
earth's crust?
(A) Iron

(C) Aluminum

(B) Chromium
(D) Potassium

Who among the following won the
prestigious Reykjavik Open Chess
Tournament?

(A) GMD Gukesh

(B) R. Praggnanandhaa

(C) R. Prashant Bhushan

(D) Naveen Joshi

In which year was the National Income
Committee formed?

(A) 1950 (B) 1949

(C) 1948 (D) 1960

Where is the world's highest mountain
peak located?

(A) Japan (B) Nepal

(C) China (D) India

Which of the following is a measure
that draws the attention of a minister
on matters of public importance?

(A) Half-hour debate

(B) Attention notice

(C) Short term debate
(D) Adjournment motion
Amount of glucose in the #blood
controlled

(A) Due to somatostanin

(B) Due to glucagon

(C) Dueto gastrin

(D) Due t6 insulin

Which one among the following states
became the 25th State of the Union of
India on 30th May 19872

(A) Jharkhand (B) Goa

(C) Sikkim (D) Mizoram

Which of the following nerves is
responsible for the sense of taste?

(A) Olfactory nerve

(B) Optic nerve

(C) Trochlear nerve

(D) Glossopharyngeal nerve

Where is the Dargah of Khwaja
Moinuddin Chishti situated?

(A) Ajmer (B) Jaipur

(C) Jodhpur (D) Bikaner

60.

61.

62.

63.

64.

65.

66:

67.

68.

gt it F-addt § FA9-97 a0 T AT H
ITAT SITAT § ?

(A) =iTg (B) #iferw

(C) Tegfataw (D) Treforg
Ruffen & & e ST Wweres doa
AT TS STAT?

(A) STr.uR ST, TReT (B) <. TS
(C) 3T, JoITed S[Uor (D) et STreft
T 1 GIATA F7 757 37 s gorw ar?
(A) 1950 (B)11949

(C) 1948 (D){1960

o &1 geQ ST vda forex gt foua g7
(A) ST (B) Hiet

(C) =i (D) a1z

REfie & § a8 sFs 9 39 § S A-
HE = HTHA e Tt e =T g
(A) strerEe # T2 (B) €ATATHYIT FAAT

(C) soa@Teil, agw (D) ==[ T &=

T H IGHIS 0l AT AT g -

(A) AHETES AT o HOT (B) TN & FHI
(C), TR = rTor (D) e % o
Rufofea & & #19 a1 Tsa 30 w2 1987 &t
AT € FT 25 T [T FAT?

(A) FTTET (B) &t

(C) Tarfem (D) fasTrew
Ruffea & & a9 & dHwr @ d@957 g
ELEIRIE-

(A) BTOT FT3ET

(B) 3f® afearanr

(C) =seh AT

(D) FSreammasT dEeT

TSI HISTRIT (et it Tg gl foud g?
(A) STHY (B) ST

(C) ST (D) =TT
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69.

70.

71.

72.

73.

74.

75.

Puerto Rico Trench is located in which
of the following oceans?
(A) Atlantic Ocean

(C) Pacific Ocean

(B) Indian Ocean

(D) Arctic Ocean

Where is the Prime Minister's Museum
located?

(A) New Delhi
(C) Hyderabad

(B) Lucknow
(D) Port Blair

In which session Congress passed the
resolution of "Purna Swaraj"?

(A) Calcutta (B) Lahore

(C) Delhi (D) Karachi

‘Laughing Gas’ is the common name of
which chemical compound?

(B) Nitrous Oxide
(D) Nitric Acid

(A) Hydrazine
(C) Ammonia

is a set of comp
programs used on a computer to hel
perform tasks.
(A) An instruction
(C) Memory

Who was the

In which year Quit India movement
started?
(A) 1939
(C) 1942

(B) 1940
(D) 1945

69.

70.

74.

75.

et e o FRafafea & 9 &9 agare &
Ruq g?

(A) sredife® wgEme  (B) B3 Ag@me
(C) T AEMERTT (D) #TeR{esH AZTETNT
THTHAT SIS Fgl AG AT 52

(A) 7= fae=t (B) TETH

(C) gamaT= (D) T1E 5%

IR LI ]

TTH & TF 9 §
U< FTE T TRfT FA F

(B) AfFEaaT
(D) TF TTEET

. Y. AL F TE AR TETHT & ?

(A) T TS (B) st fEae
(C) #. 3. Ter= (D) 35T Te=r
AT ST A farg a # T oI 9P
(A) 1939 (B) 1940

(C) 1942 (D) 1945
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76.

77.

78.

79.

80.

81.

83.

PART- IV / HIIT—IV

RURAL SOCIETY & DEVELOPMENT / I §H1S1 U4 fdwra

When was the multi-cropping program
started in India?
(A) Year 1966-1967
(C) Year 1987-88

(B) Year 1977-78
(D) Year 1997-98

India has been divided into how many
Agro Ecological Zones?

(A) 15 (B) 8

(C) 20 (D) None of these

Which of the following statements
is/are true-

1. The state of Uttar Pradesh ranks
first in the country in the production of
potato, mango, guava and amla.

2. Uttar Pradesh ranks first in the
country in total fertilizer and pesticide
use.

3. Uttar Pradesh ranks first in total
irrigated area / tube well and canal
irrigated area.
(A) Only 1

(C) 3 Only

(B) Only 1 and 3
(D) 1,2 and 3

Which of the following program isjare
included in the 'Agriculture Policy" of
the state of Uttar Pradesh?

1- Multicropping Farming

2- Intercropping Farming

3- Mixed Farming
4- Relay Farming
(A) 1,2 and 3

) 1,2,3and 4

(B) 3 and 4
(D) Only 3

Who are ,calléd marginal farmets jin
Uttar Pradesh?

(A) These who have less than one acre
of land

(B) Those who have less™than one
hectare of land

(C) Those who have less than two
hectares ofand

(D) Those ‘whowhaveless than 2.5
hectares of land

Which scholar propounded the
concept of Sanskritisation?
(A) Durkheim (B) Prof. Srinivas

(C) Yogendra Singh (D) S. C. Dubey
In which year the Bengal government
passed the 'Gram Panchayat Act' to
revive the village panchayats during
the British rule in India?

(A) 1917 (B) 1919

(C) 1921 (D) 1928

76.

77.

78.

79.

80.

81.

82.

AT H agHae HIEHH He & AT AT 977
(A) a9 1966-1967  (B) a9 1977-78
(C) a9 1987-88 (D) a5 1997-98

WG & e FY (ger) ariRfEufadr &=
(Agro Ecological Zone) ® fawrfora frar

T 8P

(A) 15 (B) 8

(C) 20 (D) &H & A< TE
R ot § A-AT/d TR/ E-

1. I TR TS el Sy ATH, THET qAqT
AFAT F IgATET | 9T § TIH TI79 9T 2
2. %A IATH Wa HIeATF ITINRH 3L T390

9T H TAH T A&
3. 3L QT FT (HAq HTRA)TATT T T8

= & § T\ T anE
(A) frF 1 (B) & 1 wa 3
(C) Tk 8 (D) 1,214 3
e & FT-qr/&F-FEHT I T T FHi¥
T i g2
1-agHEHT Gt
2- FedEqr Gt
3t ot
41 R =t
(A) 1,2 T 3 (B) 3 TH 4
(C)1,2,3Ta 4 (D) &% 3
S Y= | AT FoTw 2 Fgr 147 §°

(A) FSIF T UF THE & FH 4 2

(B) 51 919 UF gHFAT H FH [H g
(C) o e ST gFAT A FH qfw
(D) o9 9T] 2.5 ZHRAT T FH qH &

TeRd R it sraemar B g & &

(A) TETH (B) . ffaama

(C) mirex foig (D) wa. . g

g, dY. Sguadt afgesmT B e g
YT g?

(A) forsT 5% (B) ATaTE
(GELEIEIE (D) TTefior &
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82.

84.

85.

86.

87.

88.

89.

The U.P. DASP project is funded by
which organization?

(A) World Bank (B) NABARD
(C) RBI (D) Gramin Bank
'‘Dayabhag’ rule related to the

succession of joint family property is
propounded by-

(A) Vigyaneshwar

(B) Jimutavahana

(C) Shankaracharya

(D) Manu

How is rural society differentiated from

urban society?

1. With reference to sex ratio

2. With reference to the density of
population

3. In terms of way of life

4. In terms of size to population

(A) 1 only (B) 2 only

(C) 2 and 3 (D) 2,3 and 4

Which organization is related to social

survey in India?

(A) National Council of Applied
Economic Research (NCAER)

(B) National Sample Survey office

(C) Indian Statistical Institute

(D) All of the above

What. is the mdral area'that surrounds
the city/called?
(A) Hinter land
(€) Suburb

(B)"Conurbation
(D) Slum

Which “eof the following features of
science is found in the study of social
phenomena?

(A) Laboratory use

(B) Prophecy

(C) Universality

(D) Cause-Effect Relationship

When was Food Corporation of India
(on the advice of the World Bank)
established by the Government of
India?

(A) 1950
(C) 1955

(B) 1952
(D) 1965

83.

84.

85.

86.

87.

88.

89.

wg # fafeer amw-we ¥ 9w 9=wEEt #@
qeSiied & forg fhe a7 #§ e 9
F T Y=g AfgREe aria e

(A) 1917 (B) 1919

(C) 1921 (D) 1928

h IRET # g9 F SOUEER ¥
grafeaa s [aw #r giaafa G-

INREEIGECES (B) st@aTgs
(CEEREIR] (D) 7

Arfior guTST w7 WET g4 @ e G
ST &2

1. TR % a@ s

2. STEEAT o T e §

3. Sfta= % gt F a=d |

4. STEHEAT | STHT F gvad T

INE=E™ (B) FaT 2

(C) 2 7T 3 (D).28 7T 4

AT o) qTHISEr a8 9 qiaf~aa fa-d1

et P

(A) FYAAT FSEF F TATZS THIATHE
RE=(NCAER)

(B) TeraeT S¥0T | AT TR

(C) Zf¥eaA wefeftes TH=e

(D)-39dh T+t

TR & AT AL F ST qTed ATHIOT & AT

FAT gl 14T g2

(A) TS Ja9T (B) ST fawae

(C) ST (D) wfer Tt

Aufea & F g T & oreqad |
s it ST AT 9wt STt g

(A) STETLTAT T ITATT

(B) wfaeTaTeft

(CEIERUEERI

(D) T -FHTTOT TFIweT

ARG R g0 TRAE @ " (FCI-
Food Corporation of India) #T =T9«T

(P S Y a1y 1) F9 gS AP
(A) 1950 (B) 1952
(C) 1955 (D) 1965
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90.

91.

92.

93.

94.

95.

96.

Which  statement about Daiva

Nidharshana is false?

(A) It is also called probability
sampling

(B) It was first used by Baule
(London)

(C) Itis also called objective modeling
(D) Equal opportunity of choice for
every unit of the whole

In which five year plan Rashtriya
Krishi Vikas Yojana was rolled out?

(A) Eighth Five Year Plan

(B) Ninth Five Year Plan

(C) Tenth Five Year Plan

(D) Eleventh Five Year Plan

The Lekhpal make
Khatauni-

(A) By Red Roshnai

(B) By Green Roshnai
(C) By Blue Roshnai
(D) By Black Roshnai

changes in

The Article of the Constitution under
which the District Collector has been
given the security of his office is-

(A) 305 (B) 307

(C) 311 (D) 315

Which of the following land reforms
was first started in India?

(A) Fixation of maximum limit" of
agricultural holding

(B) Distribution of Vamshi lagd ameoeng
the landless

(C) Zamindari abolition

(D) Consolidation

Match/List-I with Kist-II and select the
correct answer from the codes given
below:

List -I List —II
(City) (Product)
(a) Renukoet_ 1. Sporting Goods
(b) Rishikeshu..II..Antibiotic
(c) Meerut III. Locks
(d) Aligarh IV. Aluminum

() (b) (o  (d)

A) IV 11 I 111

(B) I v I I

C) 1V 11 m 1

(D) I v I I

When was the sugarcane department
established in Uttar Pradesh?
(A) 1947 (B) 1932
(C) 1935 (D) 1950

90.

91.

92.

93.

94.

95,

96.

< e F IR A FAT-97 FAT IqA g?
(A) =& yThrRar fAee off Fga g
(B) ZHHT HETIH TAWT AT3 (Awa) 7

o7

(C) =H 329 fAeda i Fga &

(D) ¥\T F TAF THIE F A F AN
AT

T FY e T e de=adie Fiser

AT # AGUTT IREdT HIAT 3-
(A) #TeT TFTE | (B) &t TrormTE |
(C) freft Trgms T (D) e ToATE |

gfag ¥ M TT=s, &, Awa (Sl e
FT A RIAIAT T LT Tl TE g, T8

(AN805
(€) 31l

Rufofag & 9 F9-a1 & R 9a=a &
HqH qget e, oAt e

(A ST =t sTTareRae HaT &1 AT

(B) FTHHET S[TH 7 gHAgET | &

(C) T 37 g

(D) =FRar<t

gA-1 *1 gAI-11 F gafera fifcrg qor =
w7 Fe & 9 ST T TAT AW

gHi-1 gHI-11

(TR)

(a) TEE L
(E3EER
(c) #Es

(d) refiTe

%<

() (b) (o) (d)

A IV I I 111

(B) I v I 111
C) 1V I m I
(D) 1I v I 1

(B).307
[D)315

I T F =7 BT 7 15w v BT 14w
oqT?

(A) 1947
(C) 1935

(B) 1932
(D) 1950
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97. Which geometrical figure is easier to 97. ST 9999 ¥ & &1 g saradi 31@% T
measure by dividing the area in Zareeb 9
survey? TTEHT ATIAT AT WS{P
(A) Circle (B) Square (A) T (B) &t
(C) Rectangle (D) Triangle (C) = (D) Bt
98. In which article and in what context . ) .
was the word "district" used in the 98. WA ¥ HfAg™ & “fre” o8 fre s &
Constitution of India? qoT e waef § e ger?
(A) Article 233 with reference to the ftor 3 draet i
District Judge (A) === 233, ST =t % @9
(B) Article 356, with reference to the (B) =g 356, TTgA(d & Haw |
President EREC e :
(C) Article 311, with reference to (€) 311, ST FATAH % Fl?{‘ﬁ il )
public services (D) TR 265, TSTEHPTFA & Had |
(D) Article 265, with reference to the
collection of revenue 99. IUX W & g SHUe # AT SIS T
99. In which district of Uttar Pradesh Heheg 87
Buxa tribe is concentrated? (A) Fl'@ﬁ'ﬂrg'( (B) @S
(A) Lakhimpur (B) Bijnor
(C) Lalitpur (D) Ghazipur (C) AT (D) TR
100. In which district of Uttar Pradesh 100. ST T2 & 7 ot o fafors afss si=
Special Economic Zones have been TR :
established ? Frr @ &?

(A) Agra, Kanpur and Noida

(B) Agra, Kanpur and Greater Noida

(C) Meerut, Moradabad, Kanpur and
Noida

(D) Moradabad, Kanpur, Noidagand

(A) ST, FTEL 37T q0ET

(B) ST, &Y &Y AT ATU=T

(C) 73, TIRANE, FAT AT AT

(D) qEaTay AT, AT SlI¥ JeX AUt

Greater Noida

1.(Q) [2.(A) . |[3/B) 4@ |5®B |6.D) |7.(4) |8.(C) |9.(4) |10.(C)
11. (B) |12.(C) [13.D) |14.(D)” | 15.(A) |16.(C) |17.(D) |18.D) |19.(C) |20.(4)
21. (D) |22%C) |23.(C) |24.C) |25.B) |26.B) |27.C) |28.(C) |29.A) |30.(B)
31.(C) |32. (A) |'337(D) |34.(D) |35.(D) |36.(C) |37.(C) |38.(D) |39.(C) |40.(4)
41.(A) |42.(A) |43.(C) |44.(B) |45.(A) |46.(A) |47.(C) |48.(A) | 49.(D) | 50.(A)
51.(A) |52.(C) |53.(B) |54.(C) |55.(B) |56.(B) |57.(A) |58.(B) |59.(B) |60.(B)
61. (D) | 62. (C) | 63. (D) | 64. (D) | 65.(C) |66.(D) | 67.(A) |68.(C) | 69.(C) |70.(A)
71.(C) | 72. (D) | 73. (A) | 74. (B) | 75.(D) | 76.(B) | 77. (B) | 78.(A) | 79. (A) | 80. (C)
81.(A) |82.(A) |83.(A) |84.(B) |85.(C) |86.(B) |87.(B) |88.(B) |89.(B) |90.(D)
91.(B) |92. (D) |93.(A) |94.(A) |95.(C) |96.(B) |97.(B) |98.(B) |99.(C) | 100. (C)
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